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Add Fractions

4. Match the calculation to the correct answer.

3,6,10 2,1 ,4._
A7 %14t 28" B3ty
1,3,3_ 3,9,10
Co*ate D553
5 3 8 1
HolcNols
5. Which calculation has the greatest answer?
4,2 .8 _ 2,1,10_
SR BE 3t
3 16 3 8 18
TR Dy *ig*ta=

hig

6. Gemma, Paul and Connor are sharing two botfles of pop.

I drank more than half
I drank half of one. -
of one bottle but less.

than two thirds.

Conm.w

I drank 5 more than
half of one botle.

Gemma
How much did they drink altogether?
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7. Match the calculation fo the correct answer.

1,4,6_ 2,31,
A.‘050|° B.at‘t‘_
1,4,3_ 3,34
Cytete” L AT
7 2 3 13

" "u’ ‘140 “a‘ "zo’

8. Which calculation has the greatest answer?

2 1.5 _ 1,7.,3
ATrate s Batstaz
1,44 3,4, 4_
AT Dg*re

kg

9. Lucy, Latifa and Jason are sharing two apple and blackberry pies.

I ate more than Lucy
Iate two thirds of one. o
e butless than 3 of
ple.
fre= pe.

Jason
How much did they eat altogether?
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Expected

AT B CAg D
5.A
6.4 (Connor) + - (Paul) + -&-(Gemma) = 1-%- =13

- (lucy) + 5 (Latifa) + < (Jason) = 175 = 13




